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Match List I with List IT

LISTI LISTII
Dimensions Theories of Intelligence

A |Contextual Intelligence L. |Structure of Intellect Model

B. [Naturahlistic Intelligence 1L Tnarghzc thearyol
[ntelligence

6 (Bt Reline pip. [Theory of Multiple
[ntelligence

D Three dimensions of v Theory of Primary Mental

" [Intellectual Traits  |Abilities

Choose the correct answer from the options grven below:

1. A-I. B-II. C-III. D-IV

| ]

CA-IV, B-I, C-II1, D-II

CA-IL B-IIL C-LL D-IV

%]

ey

. A-IIL B-IIIL C-IV, D-1I

Options:

4855841401. 1
4855841402. 2
4855841403. 3

4855841404. 4
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1. A-I. B-IL. C-III. D-IV

o| o|w|r

2. A-IV. B-I. C-III, D-II
3. A-IL B-IL C-1 D-IV

4. A-IL B-III. C-IV. D-I

Options:

4855841401. 1
4855841402. 2
4855841403. 3
4855841404. 4

Question Number : 1172 Question Id : 485584352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




There 13 a general consensus among psychologists that mtelligence 13 a product of complex interaction of
and

1. Heredity and learning
2, Heredity and environment
3. Culture and thought

4. Culture and heredity

Options:

4855841405. 1
4855841406. 2
4855841407. 3

4855841408. 4
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4855841405. 1
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4855841407. 3

4855841408. 4
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Alfred Binet 15 associated with

1. Theory of Multiple Intelligence

[ ]

. Two-factor theory

. Uni-factor theory

L]

4. Triarchic theory of Intelligence

Options:

48558414009. 1
4855841410. 2
4855841411.3
4855841412. 4
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48558414009. 1
4855841410. 2
4855841411.3
4855841412. 4
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Which one 15 not a part of componential intelligence (Sternberg. 1985)?

1. Pertormance Components

[ ]

. Behavioural Components

. Knowledge acquisition components

L]

o

. Metacomponents

Options:

4855841413. 1
4855841414. 2
4855841415.3



4855841416. 4
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Options:

4855841413. 1
4855841414. 2
4855841415. 3

4855841416. 4
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William Shakespeare, Premchand and Rabindra Nath Tagore are famous writers whose drama, poems and
stories have made them immortal. According to Gardner's Multiple Intelligences, identify their intelligence

1. Logical mathematical
1. Spatial
3. Linguistic

4, Naturalistic

Options:

4855841417. 1
4855841418. 2
4855841419. 3
4855841420. 4
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4855841419. 3

4855841420. 4
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What are the characteristics of emotionally intelligent persons?

A. Sensitive to their own feelings and emotions.

B. Can relate emotions to thoughts.

C. Understand the mtensity of others emotions.

D. Unable to perceive various types of emotions on others.

E. Do not understood the powertul influence of the nature of emotions.

Choose the correct answer from the options given below:

1. A. B and D only

| ]

. A. B and E only

L]

.D. C and E only

4. A. B and C only

Options:

4855841421. 1
4855841422.2
4855841423.3

4855841424. 4
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4855841424. 4
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Arrange in order the mtellectual activity that involves the interdependent functioning of three neurological
systems of the brain as given by Das and Nagliert

A. Psychology test is announced by the teacher.

B. You try to understand and grasp the meaning and relationship, learn all the information serially where
required.

C. Arousal/Attention compels you to focus, read and revise your lessons.

D. Planning 15 activated by scheduling a time table, and clear your doubts to meet with your goal.

Choose the correct answer from the options given below:
LLABCD
2.A.C.B.D

.D.B.A.C

L]

4B.,AD.C

Options:

4855841425. 1
4855841426. 2
4855841427. 3

4855841428. 4
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1.A,B,C.D

2.A,C,B.D
3.D,B,A.C

4B,AD.C

Options:

4855841425. 1
4855841426. 2
4855841427. 3
4855841428. 4
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Erich Fromm viewed human beings differently despite being a Post Freudian. Identify his view from the
statements given below:

A. being purposeful and goal directed.

B. basically social bemgs.

C. Sexual aggressive beings.

D. guided by aimns and aspirations.

E. Personality develops from our experiences with other indrviduals,

Choose the correct answer from the options given below:
1. Aand B only
2.Cand D only
3.Dand E only

4.B and E only

Options:

4855841429. 1
4855841430. 2
4855841431. 3

4855841432. 4
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4855841429. 1
4855841430. 2
4855841431. 3
4855841432. 4
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Match List I with List IT

LISTI LISTII
A [Disposition I. |5table and persistent way of behaving.
B ITrait I Gogis and ideals that are worthwhile to
achieve
C |Habit 1L Tfexld'enf:}' toreactina particular way to a
civen situation.
D. [Values IV, |Over learned modes of learnings

Choose the correct answer from the options given below:

1. A-II. B-IV. C-I. D-III

[ ]

CA-IILL B-ILL C-IV, D-II

CA-L B-IILL C-IIL, D-IV

(%]

4. A-IV, B-II. C-III. D-I

Options:

4855841433. 1
4855841434. 2
4855841435. 3

4855841436. 4

Question Number : 1179 Question Id : 485584359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




a1 11 g1 11 H e &

T T

A [@HE I [cogeR &1 T 3R 3Hed g4 &l diidl
" T R HIGRN @1 SUdIHId &1 Ui

o L8] i

. ol T Ry o 3THR Ue [igd didiear
C. |HTad II1. §ﬁ1ﬁﬂ%

D. g IV |38 7TH & 3T T TR
A1 o T o ed! ¥ 9el 3R &1 999 e

1. A-IL. B-IV, C-I, D-III
2. A-JIL B-LL C-IV. D-II
3. A-I. B-III. C-II. D-IV

4. A-IV, B-II. C-III. D-I

Options:

4855841433. 1
4855841434, 2
4855841435. 3

4855841436. 4
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Freud proposed five stage theory of personality, also called psychosexual stages of development, The order m
which these stages appear are

A Anal

B. Genital
C. Oral

D. Latency
E. Phallic

Choose the correct answer from the options gtven below:
1.A,B,C,D,E
2.D.C.B.AE
3.C,AEDB

4 A.B,.D,EC

Options:

4855841437. 1
4855841438. 2
4855841439. 3
4855841440. 4
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Options:

4855841437. 1
4855841438. 2
4855841439. 3

4855841440. 4
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According to Morris. type D personality 1s-
1. Prone to depression
2. Prone to cancer

. High on energy

s

e

. High on patience

Options:

4855841441. 1
4855841442. 2
4855841443.3
4855841444. 4
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4855841444, 4
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Varun's personality attributes can be deseribed as dutiful, truthful, disciplined, clean and detached, Which type
of personality is Varun having accordmg to Charak Sambita ?

1. Sattva guna
2. Tamas guna
3. Rajas guna
4. Pralait

Options:

4855841445, 1
4855841446. 2
4855841447. 3

4855841448. 4
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4855841445, 1
4855841446. 2
4855841447. 3
4855841448. 4
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Indian adaption of TAT (Thematic Apperception Test) has been done by:
1. M.C Joshi

. Pramila Pathak

[ ]

. 8. M Mohsin

Lia

o

. Uma Chaudhary

Options:
4855841449. 1

4855841450. 2



4855841451. 3

4855841452. 4
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4855841449. 1
4855841450. 2
4855841451. 3

4855841452. 4
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As individuals we always make a judgement about our own worth, This is an aspect of:-

1. Self-conecept

[ ]

. Self-belief

. Self-esteem

L&S]

4, Self-confidence

Options:

4855841453. 1
4855841454. 2
4855841455. 3
4855841456. 4

Question Number : 1184 Question Id : 485584364 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

T3 00fda T B g0 9ed S (R A TR S aR B P P51 6 PI@ Tl
1, STE-HRT
2, -
3. 3T WA
4, YT
Options :
4855841453. 1

4855841454. 2

4855841455. 3



4855841456. 4
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Navin worked very hard to qualify the national level entrance exam. However on the day of exam he went
blank and just walked out of the examination hall without attempting the paper. When asked about this by his
parents and friends he totally refuses that such a thing took place. Navin's behaviour is an example of:

1. Demual
2. Repression
3. Reaction Formation

4 Rationalism

Options:

4855841457. 1
4855841458. 2
4855841459. 3
4855841460. 4
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4855841457. 1
4855841458. 2
4855841459. 3

4855841460. 4
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After the Covid-19 pandemic, Vikas would feel stressed every time he saw any person sneezing or coughing.
According to cognitive theory of stress appraisal. Vikas appraised the situation as :

1. Possible Harm

2. Emotional response
3. Cognitive response
4, Neutral

Options :

4855841461. 1



4855841462. 2
4855841463. 3

4855841464. 4
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4855841463. 3
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Comprehension MCQ

Shweta got to know that she has a class presentation next week which will be evaluated. So she worked hard
all week because she wanted to perform well. On the other hand Veena got to know about the presentation last
night. She ended up not sleepmg the whole night and panicked due to which she could not prepare the
presentation. The type of stress expertenced by Shweta s and by Veena

1. Distress. Eustress
2. Eustress, Distress
3. Stramn. Eustress

4. Strain, Distress

Options:

4855841465. 1
4855841466. 2
4855841467. 3
4855841468. 4
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4855841465. 1
4855841466. 2
4855841467. 3

4855841468. 4
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One of the important sources of psychological stress results from the blocking of needs and motives by
something or someone that hinders us from achieving a desired goal. This is called

1. Frustration
2. Conflict
3. Internal Pressure

4. Social Pressure

Options:



4855841469. 1
4855841470. 2
4855841471. 3

4855841472. 4
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Options:

4855841469. 1
4855841470. 2
4855841471. 3

4855841472. 4

Question Number : 1189 Question Id : 485584369 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension MCQ

According to the Holmes and Rahe's stresstul life events measure, arrange the followmng life events according
to decreasing stress score-

A, Death of a close family member.
B. Unexpected aceident or trauma.
C. Appearing for exammation.

D. Change in eating habits,

Choose the correct answer from the options gven below:
1.D.C.B.A
2.A,.B,C,D
3.A.B.D.C

4D.C.A.B

Options:

4855841473. 1
4855841474, 2
4855841475. 3
4855841476. 4

Question Number : 1189 Question Id : 485584369 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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rd fod T fomedl 1 § el SR &1 90 Bi-
1.D.C.B,A
2.AB.C,D
3.A,B.D,C
4D,C,AB
Options:

4855841473. 1
4855841474. 2
4855841475. 3
4855841476. 4

Question Number : 1190 Question Id : 485584370 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Match List I with List IT

LISTI LISTII
. This 15 a way to solve problem related to
e ficiuvenies |1 distorted t.hc;ught i.tratlijonal beliefs
B Time 1 [ eaming how to pia.q tune and delegate
" PManagement " fwork, can help to relisve the pressure
c Ra‘Fiogai e It iz a way to keep ourselves healthy, fit
Thinking and relaxed.

[t 15 a technique or skill that helps to

D. |Self Care IV |commmunicate, clearly and confidently our
feelings, needs, thoughts.

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

[ ]

CA-IL B-IIIL C-IV, D-I

CA-TIV, B-ILL C-IL D-III

LIF¥)

4. A-IIL B-I. C-II, D-IV

Options:

4855841477. 1
4855841478. 2
4855841479. 3

4855841480. 4

Question Number : 1190 Question Id : 485584370 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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1. A-L B-IL C-IIL D-IV

2 AL B-IL G-IV, DA
3. A-IV.B-IL C-L D-III

4 AL B-L C-IL DIV

Options:

4855841477. 1
4855841478. 2
4855841479. 3
4855841480. 4

Question Number : 1191 Question Id : 485584371 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Chemicals that carry messages across the synapse to the dendrite of a recerver neuron are called
1. Axons
2. Cell body
3. Neurotransmtters

4. Dendrite

Options:

4855841481. 1
4855841482. 2
4855841483. 3

4855841484. 4

Question Number : 1191 Question Id : 485584371 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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3. AR ARy
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Options:
4855841481. 1
4855841482. 2

4855841483. 3



4855841484. 4

Question Number : 1192 Question Id : 485584372 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Schizophrenia is the descriptive term for a group of

1. Psychotic disorders

| ]

. Neurotic disorders

L]

. Anxiety disorders

s

. Personality disorders

Options:

4855841485. 1
4855841486. 2
4855841487.3

4855841488. 4

Question Number : 1192 Question Id : 485584372 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




oHifagadrn FHE & {10 qUHTHS U3 o |
1, HAEl fgeR
2. AT fAeR
3. gf¥dr faerR

4. Fiadd [dPR

Options:

4855841485. 1
4855841486. 2
4855841487. 3

4855841488. 4

Question Number : 1193 Question Id : 485584373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

An individual reporting loss of part or some bodily functions is a symptom of :

1. Dissociative disorder

| ]

. Panic Disorder

3. Mood Disorder

4. Conversion Disorder
Options:
4855841489. 1

4855841490. 2

4855841491. 3



4855841492. 4

Question Number : 1193 Question Id : 485584373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

foplt onfy GRT SRR & o Sisi # affdy o1 50 e wepr! & aoeht i, P T e 3
1. fowdl fapR
2. T fdBR
3. HIGERT fdPR
4, UREH fdPR

Options:

4855841489. 1
4855841490. 2
4855841491. 3

4855841492. 4

Question Number : 1194 Question Id : 485584374 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Choose out of the following statements what 1s true about Somatic symptom disorder :

A. A person has persistent body-related symptom

B. Continually worries about the symptoms

C. Frequent visits to doctor

D. Experience paralysis, blindness ete.

E. Preoccupation with the thought of developing various illnesses.

Choose the correct answer from the options given below:
1.B.C.D only
2. A, B.Conly
3.A. C.E only

4.B.D.E only

Options :

4855841493. 1
4855841494. 2
4855841495, 3

4855841496. 4

Question Number : 1194 Question Id : 485584374 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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1.$ddB,C.D

2. HIAA.B.C

3, HAddA.C.E

4, PIAB.D.E

Options:

4855841493. 1
4855841494. 2
4855841495, 3

4855841496. 4

Question Number : 1195 Question Id : 485584375 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Match List I with List IT

LIST LISTII
Period Description
A Ref?rm I. Hippocrates, Socrates and Plato
movement
The Renaissance [ncreased humamism and curiosity about
B. ! 1L i 4
Period |behaviour.
. Oeganning I11. |[Demonology and superstition
approach
D. Middle ages IV |Age of reason and enlightenment

Choose the correct answer from the options grven below:

1. A-II. B-1. C-III. D-IV

| ]

CA-IV, B-LL C-1I1, D-III

CA-IL B-IIIL C-IL D-IV

%]

4. A-IV, B-1I., C-I, D-III

Options:

4855841497. 1
4855841498. 2
4855841499, 3
4855841500. 4

Question Number : 1195 Question Id : 485584375 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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1. A-II. B-I. C-III. D-IV

of o]

2. A-IV. B-I. C-II. D-III
3. A-IL B-IIIL -1 D-IV

4. A-IV. B-11, C-I, D-III

Options:

4855841497. 1
4855841498. 2
4855841499. 3
4855841500. 4

Question Number : 1196 Question Id : 485584376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Choose the correct option for identifving the features of a psychological disorder.

1. Deviance. danger. distress, dysfunction

[

. Danger, Distress, dysfunction, dependent

. Danger, Aggression, Deviance, Distress

L S]

4. Dependent. Deviance. Delusional. Distress

Options:

4855841501. 1
4855841502. 2
4855841503. 3
4855841504. 4

Question Number : 1196 Question Id : 485584376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

TR faeR o W&l & ugar- & fay 9g! faded &1 95+ $i-
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| ]
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Options :
4855841501. 1
4855841502. 2

4855841503. 3



4855841504. 4

Question Number : 1197 Question Id : 485584377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The process of emotional unburdening by the client, which has healing properties is called
1. Sharing
2. Catharsis
3. Informed consent

4. Alleviating personal distress

Options:

4855841505. 1
4855841506. 2
4855841507. 3
4855841508. 4

Question Number : 1197 Question Id : 485584377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

4855841505. 1
4855841506. 2
4855841507. 3

4855841508. 4

Question Number : 1198 Question Id : 485584378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Identify the therapy where client 1s taught to recognise the bodily process and the emotions that are being
blocked out from awareness. It focuses on inereasing client's self awareness and self acceptance and 1s known
as -
1. Alternatrve therapy
1. Gestalt therapy
3. Existential therapy
4. Client-Centered therapy
Options:
4855841509. 1
4855841510. 2



4855841511. 3

4855841512. 4

Question Number : 1198 Question Id : 485584378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

48558415009. 1
4855841510. 2
4855841511. 3

4855841512. 4

Question Number : 1199 Question Id : 485584379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

According to the psychodynamic therapy. cause of psychological disorders can be-

1. Faulty Conditioning Pattern

[ ]

Intrapsychic Conflict
3. Sense of futility of one's existence

4. Faulty thinking and belief

Options:

4855841513. 1
4855841514. 2
4855841515. 3

4855841516. 4

Question Number : 1199 Question Id : 485584379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:
4855841513. 1
4855841514. 2



4855841515. 3

4855841516. 4

Question Number : 1200 Question Id : 485584380 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
The rationale behind therapy is that the client's distress has its origins i the biological, psychological

and social realms.
1, Gestalt therapy
2. Cognitive behaviour therapy
3. Client-centred therapy

4. Logo therapy

Options:

4855841517. 1
4855841518. 2
4855841519. 3

4855841520. 4

Question Number : 1200 Question Id : 485584380 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

4855841517. 1
4855841518. 2
4855841519. 3

4855841520. 4

Question Number : 1201 Question Id : 485584381 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

:No

Key Value

Comprehension MCQ

Meeku was pulled up by his teachers for missing classes to play cricket during school hours, To modify his
behaviour, Meeku's class-teacher applauded him every time hus home work was submitted or when he
answered 1n class. Gradually Meeku started enjoying lis teacher's class and stopped missing it. Which
behavioural technique did the class teacher use?

1. Aversion therapy

2. Token economy

3. Positive reinforcement

4, Systematic desensitisation

Options:

4855841521. 1




4855841522. 2
4855841523. 3

4855841524. 4

Question Number : 1201 Question Id : 485584381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

4855841521. 1
4855841522, 2
4855841523. 3

4855841524. 4

Question Number : 1202 Question Id : 485584382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ

Match List I with List IT

i AnLd LISTII
Aoty al Explanation
Treatment P
1 When client opposes the progress of the
Poszitive ) = 5
A - I. |therapy from the recall of painful
Transfer g
memories
» The repeated process of using
Negative : S
E. 2 II. |confrontation, clanification and
Transfer : ;
iterpretation
¢ [Resistance e 11-'_11&:1 the -::11&11_t 1dolises or falls in love
with the therapist
D Working v [When the client has feelings of hostility
" Jthrough " langer and resentment towards the therapist

Choose the correct answer from the options given below:

1. A-III. B-II. C-I. D-IV

| )

CA-IL B-IV, C-I, D-III

CA-IIL B-IV. C-1, D-II

(%]

o

CA-L B-IIL. C-II, D-IV

Options:

4855841525. 1
4855841526. 2
4855841527. 3

4855841528. 4

Question Number : 1202 Question Id : 485584382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ
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1AL B-IL C-L DIV
2 AL B-IV, G-I D-IIT
3 AIIL B-IV. C-L D-II

4. A-L B-IIL C-IL D-IV

Options:

4855841525. 1
4855841526. 2
4855841527.3
4855841528. 4

Question Number : 1203 Question Id : 485584383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Atttude change according to Festinger. happens in the following way:-

A. Tt emphasises on the cognitive component.

B. Holding two opposing 1deas/cognition makes an individual feel that some thing 1s out of tune.
C. The cognitive components of an attitude must be in consonance with each other

D. One of the ideas will have to be changed so that consonance can be attained

Choose the correct answer from the options given below:
1LA.B.D.C
2.A,D,B.C
3.A,C,D.B

4.A.C.B.D

Options:

4855841529. 1
4855841530. 2
4855841531.3

4855841532. 4

Question Number : 1203 Question Id : 485584383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

4855841529. 1
4855841530. 2
4855841531. 3

4855841532. 4

Question Number : 1204 Question Id : 485584384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Research papers are mostly submitted on the last date declared by the department despite an advance
announcement of more than fifteen days, what technique of compliance 1s this :-

1. Foot in the door technique
2. The deadline technique
3. The door m the face technique

4. Obedience to authority

Options:

4855841533. 1
4855841534. 2
4855841535. 3
4855841536. 4

Question Number : 1204 Question Id : 485584384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

4855841533. 1
4855841534. 2



4855841535. 3

4855841536. 4

Question Number : 1205 Question Id : 485584385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The minimal group paradigm experiment was developed

1. Milgram

[ ]

. Triplett

. Tajfel and his colleagues

L]

4. Shenf

Options :

4855841537. 1
4855841538. 2
4855841539. 3

4855841540. 4

Question Number : 1205 Question Id : 485584385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

4855841537. 1
4855841538. 2
4855841539. 3

4855841540. 4

Question Number : 1206 Question Id : 485584386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
The term refers to those proeesses whereby our attitudes and behaviours are influenced by the real or

imagined presence of other people
1. Social Cognition
2. Social Influence
3. Social facilitation
4, Social Inhibttion
Options:
4855841541. 1

4855841542. 2

4855841543. 3



4855841544. 4

Question Number : 1206 Question Id : 485584386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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How 13 Prisoner's Dilemma used to study cooperation and competition?

A. They are separately offered a chance to confess.

B. If both confess the punishment to both will be mild.

C. Two suspects are quizzed by detectors separately.

D. The one who confesses will get no punishment and the other will be punished.
E. In the end if neither confesses, each will recerve a life sentence.

Choose the correct answer from the options given below:

1.CABED

| B}

.CBADE

.CADBE

L]

4 CABDE

Options:

4855841545. 1
4855841546. 2
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The ability to put up with a situation m which individuals would have to compete with many others for even
basic resources, including physical space 1s known as

1. Crowding tolerance
2. Substance tolerance
3. Competition tolerance

4. Density

Options:
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Which of the following 1s not a feature of crowding.

A. Crowding may cause feeling of discomfort.

B. Crowding may lead to loss of privacy.

C. An individual may feel control over social interaction.

D. Crowding may result in positive view of space around the person.

Choose the correct answer from the options given below:

1. A. B only

| S

.B. C only

Lad

.C, D only

4. A, Conly

Options:
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The tips to improve your listening skills include:

A. Be open to all ideas.
B. Respond 1n a hurry.

C. Control distractions.
D. Sit in a casual posture.

Choose the correct answer from the options given below:

1. A. B only

| B

.C.D only

Lad

A, Conly

4. C. B only

Options:

4855841557. 1
4855841558. 2
4855841559. 3

4855841560. 4
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Read the passage and answer the following question:

Raunak always used to dislike and be afraid of reptiles. Once he was trying to wear hus shoes when a lizard
jumped out of 1t, Snce then he started getting scared of lizards all the more. He could not control hus fear
when he saw a snake 1 his garden, His heart started pounding, he was sweating badly. he even famted once
when someone told him that there 1s a lizard under his chair. The very thought of any of these reptiles,
generates 1n him an extreme level of fear, His mother took him to a doctor, who suggested that Raunak should
meet a psychotherapist.

On the basis of above case study. identify the disorder Raunak might be suffering from

1. Generalised anxiety disorder

[ ]

. Separation anxiety disorder

. Phobia

L)

4. Obsessive compulsive disorder

Options:

4855841561. 1
4855841562. 2
4855841563. 3

4855841564. 4
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Read the passage and answer the following question:

Raunak always used to dislike and be afraid of reptiles. Once he was trying to wear hus shoes when a lizard
jumped out of 1t, Snce then he started getting scared of lizards all the more. He could not control hus fear
when he saw a snake 1 his garden, His heart started pounding, he was sweating badly. he even famted once
when someone told him that there 1s a lizard under his chair. The very thought of any of these reptiles,
generates 1n him an extreme level of fear, His mother took him to a doctor, who suggested that Raunak should
meet a psychotherapist.

Match List I with List IT

LISTI LISTII

specific Extreme anxiety about separation from
A : I .
Phobia attachment figure.

B. |[Agoraphobia | II. [Raunak's extreme fear of reptiles.
Social anxiety

II1. |Fear of entering unfamiliar situations.

" |disorder
Separation . —
o . [Intensze and incapacitating fear and
D. |anxiety IV ) ] S, ;
- embarrassment when dealing with others.
disorder =

Choose the correct answer from the options given below:

1. A-II. B-III. C-IV, D-I

[ ]

CA-IL B-IV, C-IL, D-III

CA-ILB-IL C-IL D-IV

(%]

4. A-L. B-11, C-1II, D-IV

Options:

4855841565. 1
4855841566. 2
4855841567. 3
4855841568. 4
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Read the passage and answer the following question:

Raunak always used to dislike and be afratd of reptiles. Once he was trying to wear his shoes when a lizard
jumped out of 1t. Stnce then he started getting seared of lizards all the more. He could not control hus fear
when he saw a snake 1 his garden, His heart started pounding, he was sweating badly, he even famted once
when someone told him that there 1s a lizard under his chair. The very thought of any of these reptiles,
generates in him an extreme level of fear, His mother took him to a doctor, who suggested that Raunak should
meet a psychotherapist.

Extreme fear that Raunak 1s experiencing. falls under the category of disorder-

1. Anxiety disorder

(]

. Somatic symptoms disorder
3. Obsessive compulsive disorder
4. Dissociative disorder

Options:

4855841569. 1
4855841570. 2
4855841571.3
4855841572. 4
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Comprehension Comp1

Read the passage and answer the following question:

Raunak always used to dislike and be afratd of reptiles. Once he was trying to wear his shoes when a lizard
jumped out of 1t. Stnce then he started getting seared of lizards all the more. He could not control hus fear
when he saw a snake 1 his garden, His heart started pounding, he was sweating badly, he even famted once
when someone told him that there 1s a lizard under his chair. The very thought of any of these reptiles,
generates in him an extreme level of fear, His mother took him to a doctor, who suggested that Raunak should
meet a psychotherapist.

Another symptom of the disorder Raunak 1s suffering from 1s

1. Irrational fear

[ ]

. Embarrassment

. Rational fear

Lia

4, Tantrums

Options:

4855841573. 1
4855841574. 2
4855841575. 3

4855841576. 4
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Read the passage and answer the following question:

Raunak always used to dislike and be afraid of reptiles. Once he was trying to wear hus shoes when a lizard
jumped out of 1t, Snce then he started getting scared of lizards all the more. He could not control hus fear
when he saw a snake 1 his garden, His heart started pounding, he was sweating badly. he even famted once
when someone told him that there 1s a lizard under his chair. The very thought of any of these reptiles,
generates 1n him an extreme level of fear, His mother took him to a doctor, who suggested that Raunak should
meet a psychotherapist.

15 also type of anxiety disorder.
1. Somatic symptom disorder
2. Panic disorder

3. Obsessive-Compulsive disorder

s

. Depressive disorder

Options:
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4855841578. 2
4855841579. 3

4855841580. 4

Question Number : 1215 Question Id : 485584395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




(IR T 1 g &R el Fel o a7 e -

3 Gl 1 GHR A1 Bl U1 AR 3 4O X5 411 U6 AR 98 W1 Ug Bl DI FR
o ] O et G 9 TR | O 18 9 e fouaral € 3R ife v g o) 9 o9
S0 i B e 7 4l @ S 1Y TR v e R | TP el GRS 9 Yge
8 T 11 1 U1, T R o091 1 9 99 g1 9 99%) 94 & A ol ol g i W1 g1
1) 1 g o R 1 e 4o e ) a7 4 O 6% <l 51 T AT 99 09 el o U
o T o g 2 o 3 1 BAIaqe oo SR miiRiue 3 e )

_figfwia R &1 s UeR B
1. BI® SifHea [der
2. 3T fapR
3. HAURET-a1endT faeR
4, 3aHIE! faBpR

Options :

4855841577. 1
4855841578. 2
4855841579. 3
4855841580. 4

Sub-Section Number : 3
Sub-Section Id : 485584271
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 1216 Question Id : 485584396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension Comp2

Please read the passage and answer the question that follow.

A popular Bollywood movie 'Lagan' portrays [ndia before Independence. Indians were ruled by the Britishers
for many years. They were denied basic rights. The common and the lower strata of the society were not
provided the privilege of education as the Britishers felt that Tndians are not good enough'. They deliberately
gave Indians less qualified jobs and kept highly qualified jobs for themselves. Based on the passage answer the
following questions.

Britishers attitude towards Indians was usually negative. Such negative attitude 1s termed as
1. Prejudice
2. Stereotype
3. Diserimimation

4. Hatred

Options:

4855841581. 1
4855841582. 2
4855841583. 3

4855841584. 4
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Please read the passage and answer the question that follow.

A popular Bollywood movie 'Lagan' portrays [ndia before Independence. Indians were ruled by the Britishers
for many years. They were denied basic rights. The common and the lower strata of the society were not
provided the privilege of education as the Britishers felt that Tndians are not good enough'. They deliberately
gave Indians less qualified jobs and kept highly qualified jobs for themselves. Based on the passage answer the
following questions.

Britishers deliberately gave Indians unqualified jobs. This shows . a behavioural component,
1. Hatred
2. Discrimination
3. Dislike

4. Negative

Options:

4855841585. 1
4855841586. 2
4855841587. 3
4855841588. 4

Question Number : 1217 Question Id : 485584397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




TS Yaierd 81cig (U TH TAdTgd MR 1 i o | Sl el oo MRl O 37 4 T
OB T8 MR UG 2 7e 162 STt 2| o Ta §HTel e e a1 18y el gfaer ot g
<) el 4 e 49t T AT 4 o “HIRGHT e U T (9751 S SReld 1 1 v o1
=T el & oiaeh e U TR g 1 | e & e R e vl 1 g i

SfTST G HRGM] I % 76l TR 3 U1 75 U HaGRWD Uea FI G |

LYol
PRILEI |
3. AU
4, THRIHD

Options:

4855841585. 1
4855841586. 2
4855841587. 3

4855841588. 4

Question Number : 1218 Question Id : 485584398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




Please read the passage and answer the question that follow.

A popular Bollywood movie 'Lagan' portrays [ndia before Independence. Indians were ruled by the Britishers
for many years. They were denied basic rights. The common and the lower strata of the society were not
provided the privilege of education as the Britishers felt that Tndians are not good enough'. They deliberately
gave Indians less qualified jobs and kept highly qualified jobs for themselves. Based on the passage answer the
following questions.

The British strongly felt that Indians are not good enough. This cognitive component of attitude 1s referred to
as -

1. Prototype
1. Schema
3. Discrimination

4. Stereotype

Options:

4855841589. 1
4855841590. 2
4855841591. 3

4855841592. 4
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Please read the passage and answer the question that follow.

A popular Bollywood movie 'Lagan' portrays [ndia before Independence. Indians were ruled by the Britishers
for many years. They were denied basic rights. The common and the lower strata of the society were not
provided the privilege of education as the Britishers felt that Tndians are not good enough'. They deliberately
gave Indians less qualified jobs and kept highly qualified jobs for themselves. Based on the passage answer the
following questions.

Like the Britishers 1 the movie, Indians also believed that they were useless and continued to take up jobs that
were below their potential. This on part of Indians 1s an example of:-

1. Scapegoatmg
2. Social Identity
3. Kernel of Truth

4. Self fulfilling prophecy

Options:

4855841593. 1
4855841594, 2
4855841595. 3
4855841596. 4
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